[ ] [ ]
7.7\ beach
. é‘ \C.) | EGOI Practice Session Tasks
Russian (KGZ)
[1naX

HasBaHue npo6nemsl NAsHK
OrpaHunyeHue rno spemMeHn 1 cekyHAaa

JInMNT NamMaTm 1 rurabainT

Mane Hajoennm Bce 6onbLine nprMopckne nomMecTbd, 3aHMMarouine 6eperOBy+o nnHunio. Bmecto
9TON0 OHa XO4eT Co3[4aTb ﬂ,}'II/IHHbII‘/JI n KpaCVIBbII7| nnsax, KOTOprI7I MOXXET MCNOJIb30BaTb Ka)KAbIVI.

OHa NNaHNPYET KynnTb Y4acTb Y4aCTKOB BAO/1b no6epe>|<bﬂ. ANna Co34aHNA NAaAXa.

BrogxeT Maja coctaBnsieT B KpPOH, a y4acTky BAoNb nobepexbs ctoaT Ao, A1, ..., AN—1 KPOH,
cneBa HanpaBo. Malisi MOXeT KynuTb OAMH CEerMeHT COCeAHMX YyYacTKoB. KakoB camblii AJIMHHbIN

OTPE30K y4HacTKOB, KOTOprI7I OHa MOXEeT Mo3BONNTL cebe KyI'II/ITb?

Bxopg

MepBasi CTPOKa coAepXuT ABa uenbix uncna N n B, konnyecTBo y4acTkoB 1 6r0axeT Maiu.

BTopas ctpoka cogepxuT N uenbix yncen Ag, A1, ..., AN—1 — CTOMMOCTb y4aCTKOB.

Bbixoa

BbiBeAUTE OAHO LiesI0€ YMCI0 — MakKCUMasibHOe KOJIMYeCTBO CMEXHbIX y4acTKoB, koTopoe Malis

MOXeT N03BO/INTb cebe KynnTb.

OrpaHVIHEHVIﬂ N OLLEHKA

e 1 <N <10°.
e 0<B<10%
e 1 <A, <1000 ansa kaxgoro i Takoro, yto 0 <7 < N — 1.

Bawe peweHne 6yp,eT npoBepeHO Ha Ha6ope TECTOBbLIX rpynn, KaXgaa M3 KOTOPbIX MPUHOCUT
onpegesieHHoOe KoOmM4vecTBo 6annos. Kaxpasa TecTtoBad rpynna coAep>XxmTt Ha6op TECTOBbIX
cny4yaes. Ansa nosy4yeHnA 6annos 3a TECTOBYHO rpynny H606XOAVIMO pPewnTb BCE TeCTOBbIE C/y4an

B TeCTOBOW rpynne.
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fpynna OueHkKa Mpeaensl

1 21 Ay =A; =..=An_1
2 30 N <500
3 49 Hukakmx JONOAHUTENBbHbBIX OFPaHNYeHUI

[Mprmep
B nepBom npumepe y Maiin 4OCTaTOYHO AeHer, YTObbl KynnTb BCe Y4YacTKu.

Bo BTOpoM npumepe Malis MOXeT KynuTb M60 nepsble Tpuy, IM60 NocneaHne Tpy yyacTka.

B TpeTbeM npumepe Marlis MOXET KynuTb y4acTku € nHaekcammn 2,3,4,5,6 n 7. 310 byaeT ctonT
3+44+6+2+1+2=18 kpoH, KkoTopble Malia MoxeT cebe MNO3BOANTb. TeM He MeHee,

HEBO3MOXHO KyMNnTb 6osbLue, yem 6 y4acTKW.

Bxopg Bbixop,
3 14 3
4 7 3
4 36 3
11 5 7 14
9 18 6

15346212414

Beach

Problem Name beach
Time Limit 1 second

Memory Limit 1 gigabyte

Maja has had enough of all the big seaside estates that occupy the coastline. Instead, she wants to
create a long and beautiful beach that anyone can use. She is planning to buy a segment of plots

along the coast to create the beach.
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Maja has a budget of B kronor, and the plots along the coast cost Ay, A1, ..., Ax—1 kronor, from
left to right. Maja can buy one segment of adjacent plots. What is the longest segment of plots

that she can afford to buy?

Input

The first line contains the two integers N and B, the number of plots and Maja's budget.

The second line contains N integers Ay, A1, ..., Ax_1, the costs of the plots.

Output

Print one integer, the maximum number of adjacent plots Maja can afford to buy.

Constraints and Scoring

e 1< N <10°.
e 0<B<10%
e 1 <A, <1000 foreachisuchthat0 <7 <N —1.

Your solution will be tested on a set of test groups, each worth a number of points. Each test
group contains a set of test cases. To get the points for a test group you need to solve all test cases

in the test group.

Group Score Limits

1 21 Ay =A; =...=An_1

2 30 N <500

3 49 No additional constraints

Example

In the first example, Maja has enough money to buy all the plots.
In the second example, Maja can buy either the first three, or the last three plots.

In the third example, Maja can buy the plots with indices 2,3,4,5,6 and 7. This will cost
34+44+6+2+1+2 =18 kronor, which Maja can afford. However, it is not possible to buy more
than 6 plots.
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Input Output

3 14 3
4 7 3

4 36 3
11 5 7 14

9 18 6

15346212414
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